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#include<iostream>

using namespace std;

//—HREH 300 RFEF
int succedent[300]; //“
//tn “next[5] HYE
int precedent[300];

int main() {
int n, m;
while (true) {
cin >> n >> m;
if (n == 0 & m == 0)
break;
for (int i = 0; i < n - 1; i++) {
succedent[i] = i + 1;
precedent[i + 1] = i;
¥
succedent[n - 1] = 0;

precedent[0] =n - 1;
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int current = 0;
while (true) {
SR —RER m kE, LR m-1 K succedent ZJF
for (int count = 0; count < m-1; count++)
current = succedent[current];
int pre = precedent[current];
int suc = succedent[current];
//ik current 151 current BT
//F— 1T
succedent [pre] = suc;
precedent [suc] = pre;
if (pre suc) {
VG kS
//curren
/7%
cout << pre+l << endl;
break;
s
current = suc;
¥
s
return 0;
}
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#include<iostream>

using namespace std;

int main() {
int n;
cin >> n;
int sumn = 0, sumd = 1;//fi %R, sumn/sumd
while (n-—-) {
int num, deno;
char slash;//% 1/ K"CH#H /8
cin >> num >> slash >> deno;
//EMI a/b + c/d = (axd+cxb)/(b¥d)

sumn = sumn*deno + num¥sumd;

sumd = sumd*deno;

& B R B B

int a = sumd, b = sumn, c;
while (a != 0) {

c =a; a=bla; b=c;
¥
int gecd = b;
IR THER
sumd /= gecd;

&{

sumn /= gcd;
if (sumd > 1)

cout << sumn << '/' << sumd << endl;
else

cout << sumn << endl;

return O;
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1 #include<tostream>
2 using namespace std;
int main(){
// autograder Z/& 4 T1EHy?
3 A G L By 4 ) & E

V& S 2 ! autograder R & 7HT

3
4
5
6 7/ BT
7
8
9

7/ Bl 28R | R
// cout << "3" << endl << "D" << endl;
// 0j RHHY autograder FHIRTF T #1477

10 /) (FLLE, EAXTEFYFEFLMERT Jv‘ﬂi T H

11 2 TAIER ?

12 V24 1Tey bt ], 2 H 15 B R B AT JA oy 505 T A,
13 VZ4 A By 77 % F B TEAEAT IR #,
14 V4 A4 autograder Bt~ By S, )
15 V& 2t autograder Lrw“ﬁlifé A, H A A AL 5K P2
16 /7 i, &1L LI RS MR

17

18 7/ Ji vest BAFRIFHF

19 int best;

20 for(best = 1; best <= 4; best++){

21 // a b cd BRI ERE

22 bool a = (best == 2);

23 bool b = (best == 4);

24 bool ¢ = !(best == 3);

25 bool d = !b;

26 if (@+b+c+d!=1)

27 continue; // THERHA 1 LLKUAHF 14

28 /R RENE

29 cout << best << endl;

30 4

31

32 cout << "A" << endl;

33 else if ( b == 1)

34 cout << "B" << endl;

35 else if ( c == 1)

36 cout << "C" << endl;

37 else

38 cout << "D" << endl;

39 +

40 return O;
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while(cin>>N>>K){

//do your magic
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